g FHEERY—EXDBMERRICOVT (FMI54E8 A 1 HERAE)

(B4 A) (A )
RERHEFT->CLHED RERHET>TLELHD
R 5 TR Py BENE | BENE M= ppmEE | TR
AT 1 27 0 0 1 0 0 1 0
o |EEF 5 81 4 224 0 0 0 ) 0
| 4 72 ) 98 i 0 0 0 0
STk 5 90 ) 150 ) 1 0 ) 0
'R - RE 5 90 1 36 1 0 0 0 0
% |FiE 4 72 1 56 1 0 0 0 0
Rlom. omm 4 72 0 0 1 0 ) 0 0
-z 4 70 3 190 1 0 0 ) 1
FM 3 54 0 0 1 0 1 0 0
B 3 54 1 37 0 0 0 0 0
A = 4 72 1 84 ) 0 0 0 0
4R - 1T 5 90 ) 163 0 0 0 0 0
5L 3 63 3 162 0 0 0 0 0
ik 4 72 ) 88 1 0 ) 0 0
= 5 99 3 135 1 0 1 1 1
5 B%- 2L 4 79 1 34 1 1 0 0 0
®\&m 3 45 4 247 1 0 0 0 0
T 4 62 0 0 1 0 0 1 1
#O4 - #0 4 72 2 136 1 0 0 0 0
SlidL - 6 108 ) 166 3 1 1 2 0
ik - RiEE 4 61 0 0 3 0 0 2 0
E B - RE 7 135 i 60 1 0 2 1 0
B lwm - wEn 4 72 1 25 2 0 ) 2 0
W - £X 5 90 2 80 1 0 0 0 0
Bl - - KIR 5 81 i 384 2 0 0 1 0
EEN 2 36 i 80 1 0 0 0 0
IR T 6 108 2 238 2 3 0 2 1
E Om 3 54 0 0 2 0 1 1 1
Ll=x - a8 7 126 3 124 3 1 1 0 0
e 5 90 2 115 1 0 2 0 0
EH - B 6 126 i 29 0 0 0 0 0
- ﬁ%?%’é}@,ﬁéfgg) 4 89 0 0 0 2 0 0 0
= BE (ERER 4 72 i 50 2 0 2 i 0
FFE - %% 6 96 1 72 2 0 0 0 0
Bk - Ba 1 18 0 0 1 0 0 0 0
- BALE - X6H0 7 108 1 50 0 1 1 0 0
8 s - E O 6 99 i 49 1 1 1 ) 1
E=h 4 81 ! 33 1 0 1 1 0
E=p 3 54 2 160 1 0 0 0 0
& & 160 | 3,040 | 55 3, 555 46 11 20 24 6
XRDOAMIE, BAEBHE Y L—TR—LCBVTIZHEIS - MAONRE AL SEL, BEHIAREEENEIISNTIE
FEED-HMAONR L7 SERETT
NGER - REFHT. BRPOLDERD,




